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Sample Paper – 2010
Class – X
Subject – Mathematics

 'ONE' MARKERS: Section A
Q.1: What should be added to 4196 to make it divisible by 7?
Q.2: What is the probability of getting two tails on tossing a coin two times? 

Q.3: Evaluate:
        tan (90˚- 30˚) + cot 45˚ - sec (90˚ - 60˚)

Q.4: Write a quadratic polynomial g(x) which when divides p(x) with degree 3 leaves remainder 
        with degree 1.

Q.5: Find length of BC in following figure if DE||BC and AD=DB=3 cm and DE= 2.5 cm.
Q.6: What is the empirical formula between mean, median and mode? 

Q.7: 'The equations 3x + 2y = 5 and 2x - 3y = 7 provide one solution' Justify.
Q.8: What is the perimeter of a sector of 20˚ with diameter 36 cm?

Q.9: If the graph of an equation crosses the x -axis four times, what type of equation is it?
Q.10: Mention the lower limit of the median class in the following data:

	Class - Interval
	Frequency

	0 - 100
	2

	100 - 200
	5

	200 - 300
	12

	300 - 400
	17

	400 - 500
	20


'TWO' MARKERS: Section - B

Q.11:  A drinking class has height 21 cm. The diameter of its two ends is 6 cm and 3 cm. 
           Find the capacity of the glass.

Q.12: The area of an equilateral triangle is 17320.5 cm2. With each vertex of the triangle as 

           centre, a circle is drawn with radius equal to half the length of the side of the triangle.

           Find the total area enclosed by the three circles except that is inside the triangle. 
Q.13: If area of ∆ABC where A(2,1), B(x,1) and C(2,y) is 8 sq. units, then find the relationship 

          between x and y.
Q.14: Find the sum of first 200 natural numbers divisible by 7.
Q.15: If 5cosec B - 2cot B = 5, B ≠ 0˚, 180˚ find the value of 5cot B - 2cosec B.

'THREE' MARKERS: Section - C
Q.16: The sum of the third and seventh term of an A.P. is 6 and their product is 8. Find the sum 
           of first 18 terms of this A.P.

Q.17: 2 men and 5 women can together complete a work in 4 days while 3 men and 6 women 

          can finish it in 3 days. Find the time taken by one man and woman each to complete the 

          work. 
Q.18: Show that a number and its cube leave the same remainder when divided by 6.

Q.19: O is any point inside a rectangle ABCD. Prove that OB2 + OD2 = OA2 + OC2.
Q.20: Prove that the area of an equilateral triangle described on one side of a square is equal
          to half the area of the equilateral triangle described on its one of the diagonals.

Q.21: The radii of ends of a frustum of a cone 45m high are 28 m and 7m. Find the ratio of the

          numerical value of the volume and curved surface area.

Q.22: Determine the ratio in which the line 2x + y - 4= 0 divides the line segment joining the 

           points P(2, -2) and Q(3,7).

Q.23: In an equilateral ∆ABC, D is a point on BC such that BD= [image: image2.png]


 BC. Prove that 9AD2= 7AB2. 

Q.24: Construct an equilateral triangle with altitude 5cm. Further, construct a triangle with
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 of the sides of the original triangle.

Q.25: If the zeros of the polynomial x3 - 3x2 + x + 1 are b-c, b, b+c then find the zeros of the  
          mentioned cubic polynomial (in terms of numbers). 
'SIX' MARKERS: Section- D
Q.26: Prove the theorem:

            The lengths of tangents drawn from an external point to a circle are equal.
           Associated question:

           A quadrilateral ABCD is drawn to circumscribe a circle. Prove that AB + CD= AD + BC.

Q.27: The angles of elevation of the top of a tower at a distance of 4 m and 9 m from the base
           of the tower and in the same straight line with it are complimentary. Calculate the height 

           of the tower. Also, if a car is standing 103.8 m from the base of the tower, calculate its 

           angle of elevation of the top of the tower.

Q.28: A right triangle of sides 3 cm and 4 cm is made to revolve along its hypotenuse. Calculate
          the volume of the double cone so formed.

Q.29: Solve the problem graphically:

           The cost of 5 oranges and 3 apples is Rs. 35 and the cost of 2 oranges and 4 apples is 

           Rs. 28. Find the cost of one orange and one apple. 

           Also, find the area of the triangle formed with the two lines and x- axis.

Q.30: Calculate the median of the following data:
	MID VALUES
	FREQUENCY

	115
	6

	125
	25

	135
	48

	145
	72

	155
	116

	165
	60

	175
	32

	185
	22

	195
	3
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